AF-650 GP™ & AF-600 FP™

=B

a product of
ecomagination

imaginationa

HRZREHF

twork



&

‘ AF-650 GP/AF-600 FP B @MERLEEMH

1 Z3iji iR

1.1 &

HEARZZEHERTTRISE: TUAMSTLDNAR: SFEERRMNE. BRTRHREEELSMEISRSIMNI=SREF, ZEBBRTT
HEHE B8 P, MEAAUAERPEL. EAXLEEGTHREIRAR 70% WHRE. XTHRAENES, BSRBXHTHRR[ZEFH.

FE
HRTINRRERE PR, DIIRERE BN -

BEBBHTIERTF IP55/NEMA 12 HLFERIBG LBEK .
BEFNENERDRERSBITIMZNRATERE.

1.2 T

ZEMGHE 5 WK, SERTREMIE 15, 21, 22, 31 0 32,
HEARREEMBEEMOSGENR.

ST AR EREREN IR (RMmIRED TEENER CAIMIRH)
GE HRS GE BRS GE HRS

WEMIE 15 OPCPMK15 OPCBPS15 OPCBPSS15

wEHE 21 OPCPMK21 OPCBPS21 OPCBPSS21

W E&HIE 22 OPCPMK22 OPCBPS22 OPCBPSS22

wEHE 31 OPCPMK31 OPCBPS31 OPCBPSS31

WEMIE 32 OPCPMK32 OPCBPS32 OPCBPSS32




1.3 H&%
1.3.1 EZFEHRAFOFEEFL

EHREIENE—Y, EARTRAXNEER LM BRCEVEFOMEETL.

AF-650 GP/AF-600 FP B BMENLLEEH

Cut-out for Panel Through—Mounting:

14Q

14Q

min. 150 mm

424

| ——Remove material

10x ¢9.2

For steel blind
rivet nuts M6x30
(flat head)

o
)
0 /
i:‘
0) [T | Z_
< ) T
3 -
3
fle
'e|
246
26312

min. 150 mm

1.1: OPCPMK15

FfF AF-650 GP 230V (A#Bid 5HP) . 460/575V (A#Bid 10 HP)
¥fF AF-600 FP 230V (A#Bid 5HP) . 460/575V (AEBid 10HP) .

130BA762.10




AF-650 GP/AF-600 FP B BMENLLEEH

Cut—out for Panel Through—Mounting:

140 140

‘ /—Remnve material

-
fe |
o, oq o
i 9 | | 9 10x ¢9.2
5 - T T for steel blind rivet nuts
3 M6x30
(flat_head)

242
261%¢

150 mm,

min

130BA690.10

& 1.2: OPCPMK21
*tF AF-650 GP 230V (7.5-10HP) . 460/575V (15-20HP)
*tF AF-600 FP 230V (7.5-15HP) . 460/575V (15-25HP) .




AF-650 GP/AF-600 FP BHiBEIRREEH

67012

& 1.3: OPCPMK22
*FF AF-650 GP 230V (15HP) .
*FF AF-600 FP 230V (20HP) .

Cut—out for Panel Through—Mounting:
g
g
g
140 140 ke
g
g
d \
SNt /—Remuve material
//
0
g
g
q 4 10x 9.2
for steel blind rivet nuts
M6x30
(flat head)
(@)
N
g
g
242 g
wny
261%¢ T
g
g
130BA693.10
460/575V (25-30HP)
460/575V (30-40HP) .




10x 9.2
for steel blind rivet nuts
M6x30
(flat_head)

emove material

130BA696.10

W 5T U

AF-650 GP/AF-600 FP BHiBEIRREEH

WG] U

N

170

////////////J/////////
N\ AOUONRRNNNNNNNANNNNANNANANYN

AAMNMNIIIII

ALY ///
//J.///////// ANTRLRTA TR

AN

— — -4 — — D — —

i

EN

T

15
325.75%%

170

Cut—out for Panel Through—Mounting:

oct

02 02 82

7669

*tF AF-650 GP 230V (20-30HP) . 460/575V (40-60HP)
*FF AF-600 FP 230V (25-40HP) . 460/575V (50-75HP) .

& 1.4: OPCPMK31




AF-650 GP/AF-600 FP BHiBEIRREEH

Cut—out for Panel Through—Mounting:

10x $9.2
for steel blind rivet nuts
M6x30
(flat head)

Remove material

W OGT I

\

SOLL

Q0

- —

WG] 0w

AOONNNNARRNNNNANANN

N

/////////////////7//////// NN\ N

ANNNINNNNNRNNNAN

N

ARRAR R AR AR R NS /////////ﬁ
/////////ﬂ////////

N\
N

00

N

H///////// NNNNNNNNN
AN N

AN

AOONNNNNTRINNNNNNNANN

///////////

N
N ///
N
//
N

NSRRI

N /////// ARURTRRRUURURATR RS

37

35
386.75+ 2

STl

SIT

S

130BA699.10

& 1.5: OPCPMK32

*tF AF-650 GP 230V (40-50HP) . 460/575V (75-100HP)

*tF AF-600 FP 230V (50-60HP) . 460/575V (100-125HP) .

WRFORTHIFERME, FERERDZ.

P
=

N3




AF-650 GP/AF-600 FP B BMENLLEEH

1.4 %E
1.4.1 BEENSERTITHS L

IUZERL S Pl Mo AR ETANE E R B MG R BB Mz £ fEA Torx—20 TEIZIRSTRES] 2.2 - 2.5 NM AY4E4E.

P 3
MREMFFLUETERATAB AR TR, NEREOSGHSLEERAE (ARRFITE . MREAERMEITRETNRE, NERR LS
R{EHEIREWER T TH.




AF-650 GP/AF-600 FP BHEMENLLEEH

Drive_main_dimensions and weight:

332 mm
o o o
© ©
o
£
£
o
b
o
o o o

& 1.7: OPCPMK15

130BA763.11

Drive_main dimensions and weight:

332 mm 151 mm———=—108 mm—
=
° 0 Conmawa ©
° |
¥ =
9
Rl o
o
% °
. %I
o o
Sl
%
%
s

o,
570 mm

130BA691.11

1.8: OPCPMK21

Drive main dimensions and weight:

151 mm———— 108 mi

= |k

740 mm

=

s = *

130BA694.11

: OPCPMK22




AF-650 GP/AF-600 FP B BMENLLEEH

Drive main dimensions and weight: Drive_main dimensions and weight:
386 mm 448 mm 161 mm 173 mm
o o o ) ) Bl i
©) DC-| oCH| @
© DC+]| @
°
= A 3
o o |
I i
O [t < .=
B o
)20 @
° o 9 q
ol W= ’
Ly
(hbeie] : | O
o o - £ = |
o pogg N 8 Fo PO
Q) o) q
o|||o oﬂ o| ‘
° ° ° °
o|||o ol||o] |||
L) SHENEIC) 2
o o/ |lo|lo]]|o|
b chup || (b (oo (Do ()
@y 1D @ e
ni . © S
w O [I]Illl 0 weeE @0 ° L] “EE- 00 WHo Imn
° ° ° o o o i
& 130BA700.10
130BA697.10
1.11: OPCPMK32
1.10: OPCPMK31

FRMSEAREAFOS, FEFAERAEHE. FTLUBEEETLRIZEZERT

BOGRRITHEEZRE, BALUSRERAERMAFOS.
FHITERE.

B, ATEIZEHESS CE 1 UL B3R, SAERESHE,

EFR RS EECGRRTMFE L. ST UERFOHMRE 1P21 SRABA:

4x
M4x12mm
(2.2-2.5Nm
Torque value)

4x M4x20mm
(2.2-2.5Nm
Torque value)

@6.5x@5x4mm

|

2x M4x16
(2.2-2.5Nm

Torque value)
130BB253.11

Blind plug

130BA764.11

% 1.1: OPCPMK15



AF-650 GP/AF-600 FP B BEINREEMH

' I

L
mike sare dhit Hat spatins l\-—l-v'/
we arbeled mn shean '
Ilsbradie bemy bld gpare

h ——— : " '.::. i ]
o ‘ i Iy Wiy Fhen
>M = e i wilb egier maker
5 — 127 - 23 e Terqes salai
A4en finm 7 | I 1 |
- \ f

sabe sare bhed Bhe apeern
- f "'u are eriepfol @ abser
/

=1 \ Wiwidrabisn shuns righl bask af igaves
{ £
foo
ré i i
] / |

130BB254.10

10



BXEFAMERSESRZFERINELATRERESR |
URERE, BEIEFPITRIBINHELEZNER.

MRMEEFTE
BMATEEN RBNESEEREREKRD
¥5 GE A AEK R,

AF-600 FP & General Electric 22 T & 45,

GE Consumer & Industrial
41 Woodford Avenue
Plainville, CT 06062

www.geelectrical.com/drives

imagination at work

RN ER SRR
* M 3 83 U 2 4 1 *

eDET-659Ca



